Zadani:




Reseni:

b)

d)

9)

13_,3 10 13 45091 41

7 S_ 7 S _ 35 _ 35 _ _41.4 _ 9

4 1 22 6 +110+54 164 164 . 35 28
s 9t's s 'm

5 3 5 7 +5+14 19

8’2 8'21_ "8 _"®_ 1912 _s7_ 71
(5,1 11 9 +22-27 5 5.8 10 10
6 4 6 4 12 12

32_,2 295 +29-15 14

9 '3_9 3 __9 _ "9 _,14.30_,2

4 4,5 4 11 +8+5 63 63.9 27

15 6 15 6 30 30

7 3 31, 7 +31+21 52

2E+1Z:E+Z: 12 _ 12 52.18__78_ ,8
(8 35 17 _28 3469 35  3.12 3B 35
9 6 9 6 18 18

,3 45 35 _13 43526 9

16 "8 _16 8 16 6_,9.8 .3

3 7 7,7 +14+7 21 21.16 14
778 1'% s B

4 5 79 17  +158+85 243
"15°°6 156 _ 30 _ ‘30 _ au3.10_ 8 __ .,
gl _,7 16 27 +32-27 5 5.30 5

5 10 5 10 10 10

;3 14 11 9 48563 | 22

7 5 _ 7 5 _ 3% _ 3 _ 2.20_, 8

17 .,3 17 11 43445 89  89.35 623

10 4 10 4 20 20

35 .45 41 13 482430 121

12" "8 _12 8 _ 24 _ 24 _ 121.18_  33_ 1
,4 (5 22 11 +44-33 11 11. 24 4 4
9 6 9 6 18 18

gl —



